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CHAPTER

Q.1

Q2

Qa3

Q.4

Qs

The suilable layout of a distribution system lor

irragularly growing lown is
(@) dead end syslem
(b} grid iron system

{c) radial syslem

(@) ringsystem

Hardy crass melhod of analysis of distribution
systemn

1. involves successive trials

2. lakes econamic aspects into account

3, - islime consuming

The correcl answeris
(a) only1

(c) 1and3

{b) 1and 2
{d) Allare comrect

The water supply 10 a house begins with e
connection of the service pipe with the municipal
walermains. The conneclion comprises:

1. Slopcock 2. Gooseneck

3. Ferrule 4. Walermater

The correct sequence of these conneclions is
@) 1,23, 4 (b)3.1,2.4

) 3.2.1.4 (d)1.2.4.3

PY.C pipes canwithstand pressure head of walter
uplo

@ 25m {p) S0m

€y 75m {d) 100m

Match Lisl-1 wilh List-ll and select the corracl

answer using codes given below the lisls:
List-1

A. Castiron pipe

Asbestos cement pipe )

Plain ended pipes subjected lo frequent

vibrations

D. G.. pipe
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List-1l
., Simplax joint
. Spigot and sockel joint
Screwed joint
. Victaulic joint
Codas:

BN

c
(a)
L)
()
{9

Minimum residual pressure thal should be
provided al the ferrule point of a Iwo-storey

AN =D
Na o
- AN

W -t Aa D

buildingis - :
(8) 7m (b) 12m
{c) 77m (dy 20m

Malch List-l wilth List-It and select the correct

answar using the codes given below the lists:

List-l

Dead-end system

Grid-iron syslem

Ring system

Aadial system

List-h

Equal pressure and multiple flow paths

2. Both economy and reasonably equal
DYFSSUIB

3. Egonomy and simplicily

4, Zonal distribution

Codes:
A

{a) 3

by 2

c) 3

@ 2

PO®>

Py

- —-rNna
P
w = D

W

Q.. The purpose of providing a balancing reservoir
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in a water supply distribution syslem is (o
{a) equalise pressures inihe distrioution system
{b) store adequalc qgualily of water lo meet
, requirements in case of breakdown of inflow
(¢} store adequata fire fighting reserve
{d) take care ol fuctuations in the rate of
consumption

Match List-f with List-ll ang select the correct

answer using the codes given balow the lisls:

List-l .

Tast with sound waves in the audible

frequency range

Fire flow tesls

Hydraulic gradient lesls

Coeflicient tesls

List-1t

1. To delermine the ability of a distribution
syslem lo transmil water with adequate

~ residual pressure.

2. Location and isolation of leaks. .

3. Todetermine the elficiency and adequacy
of a dislribution system during days of high
demand.

4. To delermine the Inlernal condition of

pipeling vith respect lo friction loss

Codes:

>

vow

A BCD
fay 2 1 3 4
)2 3 1 4
) 4 1 3 2
o) 4 3 1 2

The distribution system is not designed for
residual pressure more than

@ 17m {b) 20m

) 22m (gy25m

The disadvantages of dead end system of waler

supply distribution are

1. he pressure at the dead ends becomes
undesirably low in case of additional
exlension

2. difficult to maintain residual chioring levels
at the dead ends

3. the lime of repairs, service connections
beyond the point of repair are deprived of
vrater

Q.12

Q.13

Q.t4

Which of these stalements are correct?
{&) Bolhtand2 (b} Bolh 1and3
{} Bolh2and3d {(d}1,2and3

The advaniages of grid iron sysiem of water

disiribution syslem are :

1. because of difterent inlerconnections, the
dead ends are completely eliminaied and,
thereiore, water remains in continuous
circulation, and hence notliable to poliution
dueto slagnation '

2. in case of repairs, very small area will be
devoid of complels supply

3. sincethewaler reaches atdilferent places
through more thanone route, lhe discharge

" 1obecaried by each pipe, the friction loss,
and the size of the pipe get reduced

"4, during lire, more waler can be directad

lowards Ihe altecled point trom various
dirgclions by closing and manipulating the
vanous cut=off valves

Which of these statemenis are correct?

{8) 1.2and3 by 2,3, and 4

€} 1,2and4 {d) 1.2.3and 4

Which ong of the lollowing valve is seldemused
in vaater distibution sysiems because of high
head loss characlerislics?

{a} Bulterlly (b} Globe

¢) Plug {d} Sluice

Consider the following statements:

The disadvanlages of employing steel gipes in

conveyance and distribution of water are, they

1. cannotwilhstand high negative pressures
or vacuums that may he craated in them,
especially the combined effects of vacuum
and sxternal loads of backlill and teatfic.

2. ara easily aflected by acidic or alkaline
walers and svenalmospheric agencies may
produce adverse effects onthem.

3. cannol be used lor high pressures,
{Generally nol used for pressures above
7 kglon?)

Which of these slatementsisfare correct?

{a) 1,2and3 {b} 1and 2 only 4

{c} 2and3only  {d) fonly .



Q.15 The method, which is most widely used lor
© analysing and designing the pipes o} all types
of complex water dislribistion networks, is:
{a) equivalent pips method
{p) Hardycross method
{c} circlemathod
{d} Allofthe abave

©.16 Consider e follawing stalemants:

in a vaaler supply system,

1. drain valves are provided at elevated or
higher, points to remove accumulated air.

2 roftux valve allows flow inone direction only.

3. drain valves are provided at low poinls to
remove silt and other deposits.

Which of these stalemant/s isfara correct?

{2) 1.2and3 {b} 2only

{c) 2and3only {dj3only

Q.17 Cansider the following statements:
Assertion (A): The hydraullc efficiency of pipes
in distribution system will diminish with lima.

Distribution System

1.{a) 2. (¢} 3. {c) 4 (d 5. (b)
1. (d) 12 (d) 13.{c] 14.{0} 15 {b}
Distributlan System
1. @

In the dead end system, which is also
somelimes calied tree system, lhere isone main
supply line, from which originates a number of
submain pipes. This type of layout may have 10
be adopled for oclder towns which have
developed ina haphazarg manner.

4. {d)
PV.C. pipes can wilhstand pressure head of
water up to 100 m or 10 kglcm?.

10. (¢}

The disiribution system is not designec for
residual pressure more han 22 m, Hence, lor
high tise buildings booster pumps should be
provided.

Q.18

6. (b}

Reascn {R): Clearing of ihese pipas is cheap

but it doesn’t have much eflect on' hydraulic

elligiency. .

(@) baoth A and R are lrue and R is the correct
explanationof A

{b) bothAand R atelrue but Ris nota correcl
explanalionof A

{c} Ais eue but A is false ,

() Ais false but Ris true

Consider the following stalements related 10

mass cumve:

1. The supply is also called as outllow and
demand as inflov.

2. 1tis a plot of accumulated supply of
demand versus time.

Which of these statement/s isfare correct?

(@) 1only {b} 2only ;

{c) Botntand2  (d) Neither I nor2

i

7.{c) B.{d) 9. (a) 10.(c)

16. (¢} 17. () 18.(b)

16.

17.

18.

{c)

Drain valves are provided to remove the entire
water from wilhin a pipe (alter closing the water
supply}. These are small gated ofl-takes which
are provided at low points. These are alsoknown
as biow olf valves or scour valves.

(c)

The hydrautic efficiency of pipes will diminish
with lime because of tubereulation, incrustation
and sedimeniation deposils. Cleaning, aven
though is coslly, may pay off wilh increased
hydraulic efficiency and increased pressures
throughout the system.

]

The supply is atso called as intlow and damand

as outllow.
| L]



